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M. A. (Fourth Semester) (Main/ATKT) 
EXAMINATION, 2020 

ECONOMICS 
Paper First  

(Economics of Development and Planning) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 
 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- ^Iyk.M bdkWukseh QkWj bafM;k* fdldh nsu gS \ 

¼v½ MkW- fo’oS’ojS;k 

¼c½ tokgj yky usg: 

¼l½ ,e- ,u- jk; 

¼n½ mi;qZDr esa ls dksbZ ugha 
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‘Planed Economy for India’ is introduced by : 

(a) Dr. Vishvershwariya 

(b) Jawahar Lal Nehru 

(c) M. N. Roy 

(d) None of the above 

2- Hkkjr ds vkfFkZd fodkl ds fy, buesa ls D;k vko’;d gS \ 

¼v½ tula[;k fu;a=.k 

¼c½ rduhdh izxfr 

¼l½ iw¡th fuekZ.k 

¼n½ mi;qZDr lHkh 

Which of the following are important for economic growth 
of India ? 

(a) Population control 

(b) Technical progress 

(c) Capital formation 

(d) All of the above 

3- vfrjsd ewY; fl)kUr fdlus crk;k \ 

¼v½ ekDlZ 

¼c½ ysfol 

¼l½ ‘kqEihVj 

¼n½ mi;qZDr esa ls dksbZ ugha 

Who has given the theory of Surples Value ? 

(a) Marx 

(b) Lewis 

(c) Shumpeter 

(d) None of the above 
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4- larqfyr fodkl fl)kUr dk izfriknu gqvk % 

¼v½ 1943 

¼c½ 1948 

¼l½ 1950 

¼n½ mi;qZDr esa ls dksbZ ugha 

Balanced Growth theory is given in : 

(a) 1943 

(b) 1948 

(c) 1950 

(d) None of the above 

5- izcy iz;kl fl)kUr fdldh nsu gS \ 

¼v½ fyÇcLVhu 

¼c½ vkFkZj ysfol 

¼l½ jkstsUVhu jksMku 

¼n½ mi;qZDr esa ls dksbZ ugha 

Who has given the theory of Big Push ? 

(a) Libenstein 

(b) Arthur Levis 

(c) Rosenstein Rodan 

(d) None of the above 

6- vlarqfyr of̀) dk fl)kUr fdlus izfrikfnr fd;k \ 

¼v½ bZ- Mksej 

¼c½ ,- ds- lsu 

¼l½ ,- vks- g”kZeSu 

¼n½ MCY;w- ,- yqbl 
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Who propounded the theory of Unbalaneed Growth ? 

(a) E. Domer 

(b) A. K. Sen 

(c) A. O. Hirschman 

(d) W. A. Lewis 

7- feMZy us dkSu&lk ekWMy crk;k gS \ 

¼v½ vkfFkZd fodkl ekWMy 

¼c½ pØh; dk;Zdkj.k ekWMy 

¼l½ nksgjh vFkZO;oLFkk dk ekWMy 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which model is given by Myrdal ? 

(a) Model of Economic development 

(b) Model of circular causation 

(c) Model of Dual Economy 

(d) None of the above 

8- Økafrd U;wure iz;kl fl)kUr fdldh nsu gS \ 

¼v½ jksMku 

¼c½ fyÇcLVhu 

¼l½ ekDlZ 

¼n½ mi;qZDr esa ls dksbZ ugha 

Who has introduced theory of critical minimum effect ? 

(a) Rodan 

(b) Lebinstein 

(c) Marx 

(d) None of the above 
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9- dkSu&lk fl)kUr v)Zfodflr ns’kksa esa ck/kkvksa dks nwj djds cM+s iSekus 
ij iw¡th fuos’k djus dh vko’;drk dh lykg nsrk gS \ 

¼v½ cM+s /kDds dk fl)kUr 

¼c½ larqfyr of̀) dk fl)kUr 

¼l½ vlarqfyr of̀) dk fl)kUr 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which theory emphasises that underdeveloped countries 
require large amount of investment to break backwardness ? 

(a) Big push theory 

(b) Theory of balanced growth 

(c) Theory of unbalanced growth 

(d) None of the above 

10- jksLVkso dh fodkl voLFkkvksa esa fdruh voLFkk,¡ gSa \ 

¼v½ pkj 

¼c½ ik¡p 

¼l½ N% 

¼n½ lkr 

How many stages are there in Rostov growth stages ? 

(a) Four 

(b) Five 

(c) Six 

(d) Seven 

11- vkfFkZd fodkl dh j.kuhfr D;k gS \ 

¼v½ larqfyr fodkl i)fr 

¼c½ vlarqfyr fodkl i)fr 

¼l½ larqfyr ,oa vlarqfyr fodkl i)fr 

¼n½ mi;qZDr esa ls dksbZ ugha 
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What is the strategy of economic development ?  

(a) Balanced growth system 

(b) Unbalanced growth system 

(c) Balanced and Unbalanced growth system 

(d) None of the above 

12- ‘kqEihVj dk vkfFkZd fodkl dk fl)kUr izFke ckj dc cuk \ 

¼v½ 1911 
¼c½ 1913 
¼l½ 1915 

¼n½ mi;qZDr esa ls dksbZ ugha 
An which year Schumpeterian theory of economic growth 
was formed first time ? 

(a) 1911 

(b) 1913 

(c) 1915 

(d) None of the above 

13- X;kjgoha iapo”khZ; ;kstuk esa okf”kZd of̀) nj dk y{; % 
¼v½ 9% 

¼c½ 8% 

¼l½ 10% 
¼n½ mi;qZDr esa ls dksbZ ugha 
What is the target of annual growth rate in eleventh five year 
plan ? 

(a) 9% 

(b) 8% 

(c) 10% 

(d) None of the above 
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14- nksgjh vFkZO;oLFkk dk ekWMy fdldh nsu gS \ 

¼v½ fyÇcLVhu 

¼c½ QkbZ&jsful 

¼l½ ‘kqEihVj 

¼n½ mi;qZDr esa ls dksbZ ugha 

Who has given the model of Dual economy ? 

(a) Lebinstein 

(b) Fei-Ranis 

(c) Schumpeter 

(d) None of the above 

15- Hkkjr esa izFke iapo”khZ; ;kstuk dc ykxw gqbZ Fkh \ 

¼v½ 26 tuojh] 1951 

¼c½ 1 vizSy] 1951 

¼l½ 15 vxLr] 1947 

¼n½ mi;qZDr esa ls dksbZ ugha 

When was the first five year plan launched in India ? 

(a) 26 Jan., 1951 

(b) 1 April, 1951 

(c) 15 Aug., 1947 

(d) None of the above 

16- ßekDlZokn ,d /keZ cu pqdk gSAÞ ;g dFku fdldh nsu gS \ 

¼v½ jksLVkso 

¼c½ gsjksM MkWej 

¼l½ ‘kqEihVj 

¼n½ mi;qZDr esa ls dksbZ ugha 
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“Marxism has become a religion.” Statement is given by : 

(a) Rostow 

(b) Harrod Domer 

(c) Schumpeter 

(d) None of the above 

17- Hkkjr esa vkS|ksxhdj.k dh izfØ;k fdl iapo”khZ; ;kstuk esa ykxw gqbZ \ 

¼v½ igyh 

¼c½ nwljh 

¼l½ rhljh 

¼n½ pkSFkh 

During which five year plan process of industrialization was 
implemented in India ? 

(a) 1st 

(b) 2nd 

(c) 3rd 

(d) 4th 

18- cM+s /kDds dk fl)kUr vfoHkkT;rkvksa ij vk/kkfjr gS % 

¼v½ ek¡x dh vfoHkkT;rk 

¼c½ mRiknu Qyu dh vfoHkkT;rk 

¼l½ cpr dh iwfrZ esa vfoHkkT;rk 

¼n½ mi;qZDr lHkh 

Theory of Big Push is based on which indivisibility ? 

(a) Indivisibility of demand 

(b) Indivisibility of production function 

(c) Indivisibility in supply of savings  

(d) All of the above 
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19- dkyZ ekDlZ ds fodkl ekWMy dks lehdj.k esa fdlus crk;k \ 
¼v½ jsful 
¼c½ fyÇcLVhu 
¼l½ fgfxUl 
¼n½ mi;qZDr esa ls dksbZ ugha 
Who has given the equation for Development model of Karl 
Marx ? 

(a) Ranis 

(b) Lebinstein 

(c) Higgins 

(d) None of the above 

20- Hkkjr esa ;kstuk vk;ksx dc ykxw gqvk Fkk \ 
¼v½ vxLr] 1948 
¼c½ tqykbZ] 1949 
¼l½ ekpZ] 1950 
¼n½ mi;qZDr esa ls dksbZ ugha 
From when Planning Commission was inplemented in  
India ? 

(a) Aug., 1948 

(b) July, 1949 

(c) March, 1950 

(d) None of the above 

 [k.M&c izR;sd 2 
(Section—B) 

vfr y?kq mŸkjh; iz’u 
(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 
 Attempt all questions. 

1- uhfr vk;ksx D;k gS \ 
What is NITI Aayog ? 
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2- iw¡th fuekZ.k D;k gS \ 

What is Capital Formation ? 

3- ekDlZ ekWMy D;k gS \ 

What is Marx model ? 

4- vkS|ksxhdj.k D;k gS \ 

What is Industrialization ? 

5- gSfj’k ekWMy D;k gS \ 

What is Harris Model ?  

6- usYlu fl)kUr D;k gS \ 

What is Nelson theory ? 

7- Hkkjrh; ;kstukvksa esa lk/ku tqVko dks le>kb,A 

Explain Resource Mobilization in Indian Plans.  

8- fodkl fl)kUr dks crkb,A 

Explain Growth Model. 

 [k.M&l izR;sd 3 
(Section—C) 

y?kq mŸkjh; iz’u 
(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A yxHkx 75 ‘kCnksa esaA 
 Attempt all questions. Maximum word limit 75 words. 

1- vkfFkZd fu;kstu dh j.kuhfr crkb,A 

Explain the strategy of Indian Plan. 

2- dsUlh;u fodkl fl)kUr D;k gS \ le>kb,A 

What is Keynesion theory of Development ? Explain. 
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3- vlarqfyr fodkl fl)kUr ls vki D;k le>rs gSa \ 

What do you mean by Unbalanced Growth theory ? 

4- vlhfer Je iwfrZ fl)kUr dks crkb,A 

Explain Unlimited labour supply of theory. 

5- cM+s /kDds dk fl)kUr D;k gS \ le>kb,A 

What is the Big Push theory ? Explain. 

6- rduhd ds pquko ds ?kVd dks crkb,A 
Explain considerations of choice of techniques.  

7- iqufoZfu;ksx ekin.M dks crkb,A 

Explain the Reinvestment Criterion. 

8- feMZy ds pØh; dk;Zdj.k fl)kUr dks le>kb,A 
Explain Myrdal Cycle Causation theory. 

 [k.M&n izR;sd 5 
(Section—D) 

nh?kZ mŸkjh; iz’u 
(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A yxHkx 150 ‘kCnksa esaA 
 Attempt all questions. Word limit 150 words. 

1- Hkkjr tSlh ,d fodklksUeq[k vFkZO;oLFkk esa fu;kstu ds egRo dh 
foospuk dhft,A 
Discuss the importance of planning in a developing economy 
such as India. 

vFkok 
(Or) 

ckjgoha iapo”khZ; ;kstuk ij ,d fucU/k fyf[k,A 
Write an essay on Twelfth Five Year Plan. 
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2- jksLVkso ds vkfFkZd fodkl voLFkkvksa dh O;k[;k dhft,A 

Explain the Rostow’s stages of economic growth. 

vFkok 

(Or) 

jsful ,oa QkbZ EkkWMy dks le>kb,A 

Explain Renis and Fai models. 

3- vko’;d U;wure iz;kl fl)kUr dh vkykspukRed O;k[;k dhft,A 

Critically examine the critical minimum effort thesis. 

vFkok 

(Or) 

usYlu ds fuEu larqyu ik’k fl)kUr dh O;k[;k dhft,A 

Explain the Nelson’s theory of Low-level of equilibrium.  

4- vkfFkZd fodkl esa lkekftd lhekUr mRikndrk dk ekin.M dk 
ijh{k.k dhft,A 

Examine the social marginal productivity criteria in 
economic development. 

vFkok 

(Or) 

fuos’k ds fofHkUu ekin.M fl)kUr dh O;k[;k dhft,A 

Explain different investment criterion theory. 
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